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2000171(046)

Dip. in Engg. (First Semestér)
EXAMINATION, Nov.-Dec., 2022

(Scheme : NITTTR)
(Branch : All Branches)
'COMMUNICATION SKILLS-I

Time : T hree Hours ] [ Maximum Mmks 70
[Mmzmum Pass Marks : 25
Note : Answer all questlons unless mcntloned otherwise.

Sectlon—A i
1. (@ App]y he verbs wl_thln "brackets in  their
" appropriate form @ - : o 5
(i) John (go)to the office on foot every day.
(ii) - Rubber (not grow) in the cold climate.

-(iii) Usually volcanoes (not erupt) wnthout giving
plenty of warning.

(iv) A person who (sell) ladies hats is known as a
milliner.

(v) Oxygen (form) about the one fifth of the a1r
It helps thmgs to burn,

P.T.O.



[2] 2000171(046)

(b) Insert ‘some’ or ‘any’, ‘much’ or ‘many’ where it
is necessary : _ : )
(i) Put........more mangoes in the basket.
(ii) Zor...‘...vooEo have telephones in their
houses.
(iii) Don’t make ............ noise.
(iv) Isthere .............policeman here ?
(v) How......... ... work can be finished 8&% ?
(c) Fill in the blanks with vRvOmEo:m . __ 5
(i) ' India became a free 855 ........GE
August 1947. f 2%
* (ii) The parties settled the issue....... ?nBRZ,oW

(iii) He says he will meet us ....... 10 o’clock.

(iv) Take the books....... the ocwcom& and m_<o

them tome. - - AT
(v) 1 have been ~ waiting “here’ for/ the
doctor ........... morning, .

(d) Rewrite the following sentences o:oomsm the

correct from of verb from the g,»owﬁm R T

S It (is/are) the no:omnm that must 8_8 up the ‘

- burden.

e_v Rice and OE.Q em\ﬁov the ‘stable mooa of

*17 -‘Bengalis,” -t 1Pz cotid

" (iii) All of the nnBaE em\ﬁa of inferior azm_aw

|

(31 2000171(046)

(iv) Neither the truck nor the tractors (was/were)
repaired,

(V) The cattle (Was/were) grazing the lawn.
Section—B
(3) Attempt any one of the following questions :

m%_m:_ 7 C’s of Communication, Give examples
to mcuvo;.. 8

Or

:,U&.Eo communication. Explain the process of

‘communication, - indicating clearty the role of
_nm.or,, constituent element, with the help of flow
ormn

| E AS >:nEE m:% e:m om the mo:ods:m questions: 7

5& E.o various ﬁnng_ncnm to improve listening
2 wc__:%w Briefly discuss.

aﬁ.& is “the Em,masnn between an:um and

__,Ao:_:m % mxw_m_z

, e " Section—C

2 A

3. (@ .,>naEE ».:w one of Eo ».o:o,ﬁum questions :

* Give the summary om En story “A LETTER TO
mou., et S el 7

P.T.O.

~e

N



4.

(b)

@)

(4] 2000171(046)

Or

Why does Lencho call the post office people a -

“Bunch of Crooks” ?

Why this is not an award for an act &, charity ?
Give your impression of it in a paragraph of about
"a hundred ioam

Attempt any one om the mo:oi_sm questions: 8

Give the summary of the story "The Selfish-

Giant".
Or

smﬂ motivated the rﬂo om the mSQ to- _uoooBo
“an astrologer in “An >m:o_omn_. s Um%:

mon:onl,c ;

- Answer any five question in one or two sentence
each: - g iand e 10 -

(i) ~ Why do scientists tend wo use special words
even 22&.0». common use could do ?

cc In which area has India mo:o ?osoo_._:m
work ?

’

e_o What are aﬁ 26 vwm_o oonosoam of Em
" ‘environment 7" Explain w:om%

c& cS.% do S:%_,n:m:a m<oa r_mr :m_n
m_Emcozm ? .

(b)

"

i 7

[5]

2000171(046)

(V) How does the scientist get these special

words 7

. (Vi) Who are effective leaders ?

(vii) What do entrepreneurs enjoy ? :

Match the following list A with List B: 5

1 The act of coming

between especially in

order to influence a

situation :
2. Process of burning
3.. Enableto keep up
4.  Immense

,m. | Hon.__u_n accident -

Enormous

Sustain
Combustion
Intervention

Disaster

T: in the EmEG with appropriate forms om the

following words : 5
mE.$<m_, pollute, erosion, transformation,

expert, location. , )
3 ga around a FVET iS ..., DY its water.

(i) Zm:on 25:9., be changed. A carpenter at the

best’ may s ,

furniture. :

wood into a piece of

P.T. Q.
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(iii) For a business to flourish, it must be ......... at

a good place.

(iv) Industrial wastes from the Barauni refinery
discharged into the Ganga caused ............. to

its water.

(v) In these days of .hectic competition only

enterprising businessmen can .........

2000171 (046) - e
. 3,850
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2000172(014)

Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022

(Scheme NITTTR)

(Branch Chem., Civil, CSE, Elect., EEE
ET&T,IT, Inst Mech. Metallurgy,

Mining & Mlne Survey) |
APPLIED MATHEMATICS——I

Time : Three Hours] _. [Maxlmum Marks
: [Mzmmum Pass Marks : 25
Note : All questlons are compulsory, unless mentioned
otherwise. In'case of any doubt or. dispute the
English version questlon should be treated as final.

T 99 e €, o9 9% 6 5 s g 7
ferar &) f&f @ yoR @ "o o fae & Rafy
ﬁamﬁwa%mas‘raﬁmwml

UNIT—I

(zTe—1)

0 1 i
A= and B = o=
1 0 i 0
- where i2 = —1, then prove that (A+ B) = A2 4+ B2,

" P.T.O.



" 2000172(014)

If:

2 3 4 405
A=| 5 7T 9|TM|1 20
225 J1; ) 0 3 1

e fog AR 5 (AB) =BA' |
Solve the equations by matrix method :
x-2y+3z=2
2x—-3z=3
x+y+z=0
g fify @ wdaol ®1 g DR
X 2yAB82=2 "
2x-3z=3
.N..T.V-TN”O

[3] 2000172(014)
Or
(sreram)
Solve the equation with the help of determinants :
| 2% 3y +4z=—4
x+z=0
—y+4z=2
. %3& fafty & wiavt B 5 #f -
2x-3y+4z=—4
: £ N =0 B
—y+4z=2 .
 UNIT—II |
mﬂala
3. Find the value om LT . g
__B )\h + P a\a
- po0’ :
. lim Qa+.u »\A p ﬁﬂmﬂﬂ%ﬂ
p—0 p ;
Or
. (overen) :
Find the <m_co_om :
i A,a +1)(2x +3)
- x>0 (x +2)(3x +4)
im CNE) g i
- a0 (x +2)(3x +4)
- s 0 P.T.0.



[4] 2000172(014)

If: 7

...............

CO.
.u\ . OOmHOOm.ﬁ . ’

g

find =.
then fin &a_
Ife

€QS X.....
y = cos x°%* ,

ﬁmﬁﬂﬂa%ﬂ__

| Or

(erer)

- If x¥ =e*77, then _U_S.,a that ",
By _logx

d - (1+log, HVN

i ﬁu.«?ﬁﬁ@ﬂm#@.a@"

———

|

i

d _  log, x
dr (14 log, Hvu
UNIT—IN
(€ —1m)
Find the anEo: of tangent and normal to the curve |
Q+~a+! 6 at (1,2). ‘ 8
W y+2x+y= mﬁ@d (1, 2) W wefemr o
IR B Tl EilG| %ﬂ_

[51] 2000172(014)
Or

(ereran)

Find the point at which the S:mﬁ:. to the curve
¥ ==1++/4x -3 has its slope 2/3.

Eﬂm gd By W8l W 9% y=—1+Jax -3
T BT gTel (9Uid) 2,/3 |

Find the maximum and minimum value of
y=x>—18x% + 9%6x. 8

oy =3x8 I;H +96x @I Sfea% 9 e 79 31
.ﬂw_ﬂ

Or
Let sum of two bmmmmﬁ integers is 20. Then find the
numbers if their product is maximum.

A9 ARG O ST QUi @ AN 20 1 @9

| g%ﬂﬂd%ﬁﬁﬁmﬁs@%@

UNIT—IV

- (F@PE—1Iv)

7. Equation of line is 3x—-4y+10=0. Find the

following : : : k 6

._ (i) - Slope

(ii) x and y intercepts

NG B GHE 3x - @:Lo, ow_wﬂ@@ﬂﬂ
ST PR <
@) @ (FEer)

(i) x TRIT y BT AMYS

P.T.O.

N



_parabola :

2000172(014)
[6]

Or
(erera)
Prove that the points (1, —2), @3, 6), (5, 10) and (3, 2)
are vertex of a vma__m_omﬁma.

fe @R B R (1-2), @ 6 6 10) T

féﬁ%%%%_ ik
irectrix of a

Find out vertex, focus, axis and di o

y=(x-2)(x+3)

ATy = (x-2)(x+3) B A, AR, o %?

wﬁﬁiﬁs%%_
Or

(@)

Find ecentricity, foci, m_qooﬁ:x E& _gmﬁw om _mEm.

rectum of ellipse 2x% +3y2 = 6.

.%Emﬂm.«w+ww mmwamwﬂrua_ ﬂ_._E.m._ Edd.—mﬂ

BT AT e S B g T %wa _
UNIT—V
_ (FFR—V)
Find median for the data given below : 8
Mid Point | Frequency
40 i2
30 | 40 i
- 20 - 30
10 : g
& - j

(71 2000172(014)
e fawg g
50 10
40 12
30 40
20 30 \
10 8
Or ’
L
ﬂnm_ﬁoao for the data given below :
| Size (x) Frequency (/)
,m S 3
' 6
10 8
11 v .
12 9
13 8
14 9
_ 15 6
P.T.O

-




8] 2000172(014)

'

ﬁﬁjiaﬁﬁ%%ﬁ%“ | B O 2000172(014)
Kl @l T
8 5 BT
9 6 =
10 8 | e a2 )
: ! ~ 3
5 4 | 2 0
13 8 3 i
14 9 . A o
15 6 Jl . & p :
10. Find Quartile Deviation (Q. D) for the data given i 6 2
below : T _ | - 1 4
Month + Income (in ) o S § 8
5 i SR 9 5
) By 10 4
2 0 4 S }
3 40 ww 5
GRRE 4] , -
.m 4 ) Lo . , Or
6 ) ‘ s )
; 2 . o " Find Standard Deviation (5. D) for the data given
; LR " below using short-cut method
9 _ | o 16;19,22,20
£ b s, 1, 10,165,
. 41 mmw
- 5 | | 15,18,13,20,12,1016 1B 2220

, ‘ 3,800
2000172014) 4
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2000178(011)

Dlp in Engg. (Flrst Semester)
EXAMINATION, Nov. -Dec., 2022
(Scheme NITTTR)

(Branch : Chem., CSE ET & T IT Inst

Mech., Metallurgy, Mmmg)
APPLIED CHEMISTRY "
Time : Ihree Hours_] o [Maxzmum Marks 70

Note = All questlons are compulsory In’ case of any doubt
or dispute the English versxg)n questlon should be

treated as final.

'mﬂmﬁm%lmaﬂwmewm
# Roft 4 o W B FE A AR A

S|
UNI'T

_ Fm—1)
-, (a) Fmd the four quantum numbers of the following :
- 4x2=8
) 3
AT

S

: 's
05,01 0023 L

PRI vl el " _L_l::_‘_ . B

[Mzmmum Pass Marks 2557

it



121 2000178(011)
@) 578 |
(iii) 4s!
(v) 6p°

umﬁmmwmmm.mw.m:@.mmﬂmuﬁAﬁWﬂa w:a.awmma

(@ 3d°

®)

i) 5/°
(i) 4s!

AR
g o

(iv) 6p° ‘ : : i i
Explain the mo:oﬂsm AEQ ?GV

~

OB >=?m= s Unboio

c& mﬂmoncnam s :uooawS—Q vano_v_o

; mﬁ,

?o Hund'srule

mﬁmwamm;w&ﬂmm@qm~4wm5mu_ﬁﬂga

G) dipare o1 |

) dewmmadaqmaﬂmmmz:.mm_wmmmq

es maﬁwﬁ - /
<20

Explain the following (any two) :

S Oo<m_oa co:m

o g
. 2x4=8

?v Tonic bond -
- (i) Co-ordinate vea‘,

© 2x3=6

[3 H 2000178(011)
() WEwaS 9
(i) e 9
(ifi) SUGEHIP 94
(b) - Define hydrogen bond and explain its types with
.+ example. 6

W 9 o RAT BIRG o 3 G

5 , M__a4mmqmmumas.aqwm.aﬁwqma_

UNIHIL
(g@r—n)

?v Uom:o rm&:omm of water. muE»E mUA..P method
mo_. anﬁ:d.:w:oa of rwannwm of water. 8

aﬂm mw Fonal @ uRaRa BN W@ B

. Oor

)

mxv_m_s Eo process of ZE:QE water treatment. .

mﬁdqqymﬂ.aﬁm;adm=~Mmqgmwmﬂm»,aﬂm=ma_

@ Difference cogng (any 2& .
3 ?anscu_sm:o and ?oasownzsm
- (i) wo_ueaooc

QS ‘Addition co_wao:mn:on ﬁa noa%?ﬁ_oa .

uoqso:.sno: e

4]

2x3=6 -

{»



(2)

[4] 2000178(011)
FreforRaa & & fiel < A SN RY
() omieRed Td AT
(ii) CIRC IS R . a9
(iii) IS % LGIGERE] %
UNITHI
feR—m)
Describe  Thermocouple >=8~ or " Electric
Insulator. A 7

(b)

(@)

ieTe s W Rgd SR & W
FIfT |

mxu_am the following (any fwo) :
(i) Hydrogen Electrode

- 2x35 uq.

(ii) Secondary Battery
(iii) Calomel Electrode

frfoled 4 9 el & W @ %_.a
() BEHIH geldgis
(i) fedms sl
(ifi) Pelel TS
UNIEIY
(§BTE—1V)

Write the name of any fwo ores of Iron and
explain the mechanism of -extraction of metal
from any one Tron ore. 8

>

(b)

(@)

T DR B AR T

[ 5 1 2000178(011)

fidt a1 olte el @ M foRat 1@ R o
iz o ¥ urg @ Fredn A faRR @
\HEEY |

Or

(ereran)

. Write the name of any two ores of copper.

Explain the mechanism of extraction of metal
from any one copper ore. _

forel & R vl & T folay va 54 v
PR A ¥ 9 & Heu 3 frafaf o
R |

. Write an essay on Cement or Alloy. 6

e a1 fsrrg w ey fafeg)
UNIT-V

(@E-V)

Draw diagram of Bomb calorimeter and explain.
8

Or
(o)
Explain Carbonization of Coke by Ono Hofman's
oven,

%%%%%a%%
%ﬁ%@f

RO,



[6] ~ 2000178(011)

(b) Explain the following (any two) : 2x3=6
(i) Theory of Lubricant
(i) Flash and fire point

(iif) Proximate analysis of coal
R § 9 el < R e A ;
(i) e Bl ﬁq@r—d & 5
() T W AT R

i) o e R

2000178011) -
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' Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022

(Scheme : NITTTR)

(Branch : Chem., Mech., Metallurgy,

Mining, I & FS, Lateral ITI)
~ APPLIED MECHANICS

Time : Three Hours] = [ Maximum Marks : 70 |
Rt ‘\ - [Minimum Pass Marks.: 25 :
Note : Attempt any two parts from '(a),_ (b) and (c) of each
question. In case of any doubt or dispute the
English version question should be treated as final.

TIB T D AT (), (b) W (o) & ol @ el
% SR Y| i off eR @ Wi A e @ ]
Rerfey 3 ol o & w29 @Y sifom T STe | Uy
1. ‘(a) Find the angle between two equal forces of | g

magnitude 300 N each, if their resultant is i
150'N. 7 :

WsoONqﬁmwa%a}mﬁaaTiﬁmzﬁr
IV TG HITAR I RO 150N & ?

P: T: O:

" RN
i UL W A YR S S5, S <33

BCNSRONROTN 5




2.

[2] 2000173(037)

(b) Find analytically the resultant of the following
concurrent force system : (Refer Fig. No. 1) 7

wﬂ%ﬂaﬂﬂwﬂ@@maﬁﬁﬁﬂﬂ
ﬁ%sﬂ%%@a.ﬁm@@mﬁ 1)]

Y
4 kN .
N 50° |
Xy 40° x*
50°
40°
Y
m_m 1 :
(c) 3 State principle of gmaam&:_q of mozuo A
S B AR a1 Rigrg @@a_ .
(i) State Lam's theorem. . 3
‘ ol T B gy .

(@) () Define centroid and centre of mESQ | 3

ﬂm%mﬂﬂsﬂﬁq@%ﬂ
PITT |

(ii) State the centroid of woam
"~ on the sketch,

4
ﬁmﬂﬂmﬂa@@d . ‘
mﬁ_ﬁ_ U9 59 Wil )

-circle and wroé it -

[3] 2000173(037)

Gv Find the position of centroid as shown in
Fig. 2. 7
fA 2 % zofy 10 P A Ry ot 9
A

10 mm
Fr
, Go mm 4
_ w i —___[f10mm
N — ]
e i . 80 mm
m._m 2
GV Om_oc_mﬁ centre of gravity of mo_a mmmaEE% from
- apex om cone as mrois in Fig. No. 3. - 7
fra 3 3 9OR vig @ Mt § O ww ,im%
G wﬂmﬂs o PN S AT
T : :
40 cm
Cone
. ﬁ:de ’ 20 .o.: k
Fig. 3
‘. 4.# o.
A 5 o




3. (a3

(b)

©

4, (a)

©

[4] 2000173(037)

resting on a horizontal

N to start its motion
with the

A block weighing 1000 N,
plane requires a pull of 400
when applied at an angle of 30°
horizontal. Find the coefficient of friction, normal
reaction, force of friction and resultant fo

0000 N WX TR Aftw o ® @ g fie @

rce. 7

Rea@r @ T aa ¥ 30° @ g aIel 400 N

& Rgarg a0 @ aTawRd A &1 T TN,
A YRERT ge, iU 9 ek uRomd
R g ST oY |

State laws of static friction. .

Ofte g & fram o a9y |

A body weighting 250 N is _.ommsm on a 3.:@.:

horizontal ~ plane and in just moved by a
horizontal force of 100 N. Calculate coefficient,
magnitude and direction of resultant friction. 7

250 N 4R dl &t 7o ® @ §¢ fie @t
Regem @ R 100 N & Rigg d @

S BN & | T i, oRoe @

AT SR feE @t A TR A )

Motion of a particle is given cw the equation :
X=04+32-9+12

UQQ.BW:@ the time, position and acceleration of
the particle when its velocity becomes zero. 7

I ,

©

@

[51 2000173(037)

TH BT B Ty BT FHERT ©

X=£3+32-9+12

ﬁ&@aﬁﬂ@@aﬁ%ﬁ.ﬁm@
P, 19 98 faxmmawen & g 21

(b) Explain the term angular velocity, angular

mooo_oam:oz and msmz_mﬂ displacement. 7

_ﬂdﬁﬂ ﬁéﬂﬁﬁﬁﬂ&mwﬁﬁﬂi

Rl AR

m%_m:._ the principle ow conservation of energy.

'Show that the total energy of a system remains

8885 7

mﬂﬁﬁ%@@ﬂﬁﬁﬂﬁ_%@
@&w&a%ﬁigiﬂ

.

,;o, law of a simple lifting machine is
P = 0.05 W + 10 and its maximum efficiency is

80%. Calculate : 7

9 Velocity Ratio
(i) Effort lift to a load of 500 N.

(iii) Load lifted by an effort of SON.  +

<
.9
:4‘

A AL

S em L



(b)

(€)

2000173(037) " § | 4

M

[6] 2000173(037)
U ¥l AP JF & 99 P =0.05 W + 10
® U4 IS 3O q@Ial 80% & | A BN ¢ 7

(i) 9T U

(i) 500N W%ﬁa%mamwmm |

(i) 50N T B gm Gamw ﬂw .

(1) Explain Newton s law of motion. 3
e b T B B Ay |

(i‘i') Define coefﬁc;ent of fluctuation of speed. 4 ~. |
i WEI'T'H e & e B |

Derlve an expressmn for the ratlo of tens.on. ui pheach

tight side and slack side of the belt. S . 7
ECA R S aen ﬁzﬁ ﬂTstc: $ ?Fﬂ'cﬁ Eﬁ
ST F FRA BT N mﬁﬁ‘ﬁm|

1220
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Dip. in Engg. ‘(First'.Se_mester)
EXAMINATION, Nov.-Dec., 2022
(Scheme : NITTTR)

(Branch : Chem., Mech. Metallurgy,
Mining, IT & FS Lat. ITI)
| ENGIN EERIN G DRAWING

Time : Four Hours ] , [Maxzmum Marks 70
[Minimum Pass Marks : 25

Note All questlons are compulsory. All dimensions are in
millimeter. Assume suitable dlmenslons if missing.
In case of any doubt or dispute, the English version
question should be treated as final, Use first angle
projection method.

wftmsﬁmﬁ%lwﬂﬁmﬁ?ﬁﬁia-\rﬁ%|m
ﬁﬁm%ﬁgﬁﬁ#aﬁmﬁfﬁmﬁﬁmm-
o o ¥ R f yaR @ WeE wr Rag @
RReafer 7 ofh wmr @ wew @ sifr A omem )
wem aIviig geg Ry o1 swn @ity

P.T.O.
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[2] 2000177(037)

UNIT—]
(F@R—1)
Draw any object and show mo_oé line
(@) Dimensions [ipe
(b) Extension line
(¢) Center line
(d) Hidden line -

%?ﬁﬂﬁ%mﬂﬁgﬂﬁﬁ
(&) i Y
@3) m«%ﬂ@@
(|) &=
(9 gﬁﬁ
or

Explain’ aﬁoaﬁ &@msm of &Saa_.oi.nw with
Suitable &mmBE

aﬁﬁgﬁwﬁgﬂm@ﬂﬁq@sﬂ

. XHEIEY |

. Write the following words in

single m:owo <o:_.8_

capital letter of height 10 mm - .6

ENTREPRENEURSHIP DEVELOPMENT -
Frfefe o=t @) vog CF o e Gt &

ENTREPRENEURSH]p DEVELOPMENT

sin this object : 4

*

[

f3] Noo,o::a: |

Or
(erera)

long line
In a drawing 3.2 cm oﬁ
4 meters. Find R. F. and constru

Show on it units 0
length upto 25 meters. f 17 meters on it.

represents a Jength of
2 Scale to measuré
f meter and -

the length 0 5oy
Mwmwowﬁﬁﬁﬁw ekt
%ﬁw_ﬁ% R 25 e m&ﬁﬁw_@ i<
s e @l
| 17 .%_NA %ﬂ@ ’
mﬂﬁm - Unit—I
X R , th
ol »&,_m@a hand conic curve and ma.% No .
. Draw - : ’
4 following :
© (@ Ditectrix
oo ) AR
@ Vettex: | _
‘A& moncmw _.@, ﬂm wﬂaﬁﬂ ) % Wi %./.
i
| (@) Directrix
(b) ' Axis.
AOV Vertex
A&v Focus
P.T.O.




[41
4, Match the following columns ;
ﬁm. No. | Types of curve N .
1. | Ellipse
2. w»a&o_m,
3. | Hyperbola :
frifeeT @ qftm P :

. | 9 @ yoR

o
1| ddg

2 | Waey \
3. |sifiwaey \

3. The major axis of an ellipse is 150 mm _onw and the
minor axis is 100 mm long. Draw the ellipse by
“Concentric Circle” method, 6

ﬁ.&&ﬁﬁﬁ%égmﬁ,ﬂmm& 100 fdy
.%ﬂw._ ﬁ.&ﬂdmﬂaggﬁ&ﬂﬁmﬁ

Or

(err)

Draw a Parabola by eccentricity method,

if .wm_.mooﬁ is
60 mm away from _ .

.ma&aoﬁ.x. F e _ ,
SRR N S o o i i g
ﬂﬂﬁ@mﬂﬂggﬁw_

I
|
|
i
!
J
|
¢

)

e .

(51

2000177(037)

Unit—111

oI
3 of the following points :
f VP and 40 mm

6. Draw the projection
(a) * 30 mm in front of "
®) ., 20 mm below the

VP.

(9 - 25 mm betind the V2

4
above the HP
and 30 mm in front of the

and 30 mim above the FIF-

ow the HP-




[6] f

ggﬁiﬁﬂﬁ@ﬁ%ﬁ% ey
' ¢f

TEY oY
ﬁﬁmﬂﬁ%ﬁmﬂﬁz@@w@

TBVPH
mﬂﬁw%ﬁﬂiwaoﬂmﬁmﬁ
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Or
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and right side view of

Draw the front view,
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top view
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10. To w:a the true shape of the section, it must be
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" (d) None of the above
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12. Draw the isometric view of any one obj
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List any four functions of a CAD system. 2
CAD el @ el =R wrat A Al T
.Explain the following commands used in AutoCAD ] )
(a) Extend
(b) Scale
(c) Trim.
(d) Mirror |
(e Rotate |
s § ygHm ﬁfﬁrﬁﬁﬁ PHIGH B msm'ﬂ'
@) Twcs
@) Wb e
(| W
@) AR
(@) W | |

Write*the command for drawmg circle by any three .‘
methods.
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